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1730-335-PCA-2310-MJD50628.75512_lc.txt / MJID 50628.755002 / burstid=2310

; . Grey line: exponential fit Peak flux: 0.507+/- 0.012 c/s/cm? ;
— " Black line: power law + gauss fit Fluence : 19.59+/- 0.17 c/cm? —
- Dashed line: power law o ) ' -
L Duration : 202.80+/- 13.88 s |
i Best fit model: 3.
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; Power law fit é
E Power law index: -0.893+/- 0.019 (chi*-red= 6.26) =
3 + E
= I P F
= i w o E e b Pl THib g B

SY R AN T I A A I I R AT R T TR R IR LY
= fTH i f ety L AU R LT R AN R TR A WHN ity 4
= iy YRS E gl T LT ST g
S T RN T T T
- A + b * b
i T T T T T T T T T T T T T T T T T T T T T T T i
—  Power law fit plus Gaussian (st.dev.= 6.51+/- 0.41 s, fracgs= 0.02+/- 0.01) =
- Power law index: -0.777+/- 0.023 (chi*-red= 5.62) 3
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